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All questions are compulsory.

(i) ¥ FHE 1§ 5 ad A oY I 7o ¢ I_S 9 W 1 A A g ges
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Question Nos. 1 to 5 are very short answer type questions Each question
carries 1 mark. Answer should be given in 1 word or 1 sentence.
(i) ¥93 PAIG 6 A 10 dF TP W99 R 2 3o smafed 21 (9= W™ - 30 =)
Question Nos. 6 to 10 carry 2 marks each. (Word limit — 30 words)

g BHIG 11 ¥ 22 9P GG NI W 3 3P &I ¥ ve FW - 50 v

Question Nos. 11 to 22 carry 3 marks each. (Word limit — 50 words)

(v) U9 FHU6 23 W 4 3 @R 21 (9= | - 70 9=

Question No. 23 carries 4 marks. (Word limit - 70 words)
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Question Nos 24 to 26 carry 5 marks each. (Word limit - 100 words)

(wuaﬁmmmaﬁmmﬁmaﬁmm%@amwﬁﬁﬁamt

Write chemical equation angd draw clean and labelled diagram wherever

necessary
WE -1, R ¥ & o @
What do you understand by aerosol ?

H¥-2. TREH & e g3 T UPAC AT HAv

Write structural formula and IUPAC name of chloroform.

OH

HYq-3. B IUPAC a1 &7 2 >

CH,

OH

What 1s IUPAC name of ?
CHJ

H¥-4. befem fomam B @ 2>

What is Fehling solution B 2

A¥A-5 TS T 3 B v JeTeRor e

Write an example of essential amino acid.
H¥9-6 ARA 03 Rewn ¥ @ IR fofap)

Write any two differences between Molarity ang Molality
c2322028 T
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qe-7. e PR B sk ¥ Br g g e ga Hfv @ a R 4 years T #1 2
Calculate the half life period for a first order reaction when the rate constant i1s

4 years .

-8, IR & aw w 0, ha & &G wewx (S) AW A B ¥ ? 2
Sulphur is a solid, while oxygen is a gas at room temperature. Why ?

qe-9. fra sfufyn ¥ @23 @@ 3@ @& 9W 3 g ol 1+1=2

H02
@ v

Write the name and formula of the product formed in the following reaction

NO,
@ HPd
He-10. FNEETfom FEREE ¥ p-EEEa UdNT ¥ aa IRM P BAS AHDIOT
aifse) 2

How will you convert benzenediazonium chloride into p-hydroxy azobenzene

Give only reaction.

-1,  0F fdcas &1 dgudis 350.22 K &1 afk 1.80 7w 3@mwda e, 90 om faemas
¥ o, @ gmusie 351.10 K @ aar &1 fdm & AR game & o v
(fear mar &: Kb = 2.53 K kg mol') 3
The boiling point of solvent is 350.22 K. When 1.80 g of a non-volatile solute

was dissolved in 90 g of solvent, the boiling point is raised to 35110 K

Calculate the molar mass of the solute. (Given - Kb = 2.53 K kg mol "
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] demer A M wwwd €2 wm DR sRifyw ¥ B an Reris & g

- 12,
frfw| 2+1=3
What do you understand by molecularity 7 Write the rate constant unit for first
order reaction.

W13, USmE 38R0 A 3 AEEd & P JaeRv |fed qnensd) 142=3
What do you understand by enzyme catalyst ? Explain with example.

wea-14. vegiifram ¥ ) smRe @ AW, YT od D 3udm RRav) 141+1=3
Write the name, formula and use of two ores of Aluminium.

mea-15. (1) 3R Eeem diffs XX TR @ v Jaeeur Rrfaw) 1+2=3
(2) @ftram & & wam HRav
(1) Write an example of interhalogen compound XX. type.
(2)  Write two uses of helium.

WE-16. BRORE & DI A @ e & 9W 7 ween g ol 3

Write the name and structural formulas of any three oxy-acids of phosphorous.

wer-17. frafaflea soeedann diff@ & IUPAC am e - 3
(i) [Pt (NHs),] Cl,
(i) [Cr (NH,), Cly
(iii) [Mn (H,0)g]?*
Write the IUPAC names of the following co-valent compounds .
(1) [Pt (NH,),) Cl,
(i) [Cr (NH,), Cl,]

(i) [Mn (H,0)c]?*

5ga-18. @M @ & @ (baq oMt wHexe fafee 6@ g IR w0 A
1v2+1'42=3

W fafiEd) -
(3 TR & IRaw ¥ sfufsar amn s 2
(@) ofm smEEE @ SR A wReRy § e g ¥ sfiga S SRR
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What happens when (write the reaction and name of major product)

(a)
(b)
ae-19. (37)

([)

()

(a)

(b)

(c)

FE-20. (3
(a)
(a)

(b)

Chlorobenzene is treated with sodium

Ethyl iodide treated with zinc metal in presence of ether

e sfits 3 Réas s mewea 2 o 00 2 (Baw e
forfay) 1+1+1=3
THaRe @ qui S

OH

§in v o
+Zn - >

(qea  fearee)
e oeds & &0 > (Tiesor ffae)
o veoETe & R

How do you obtain secondary aliphatic alcohol from Grignard reagent ?

(Write only chemical reaction)

Complete the reaction :

OH

A ?
+ Zn >
(Major product)

How to make the following changes ? (Write the equation) :

Ethyl alcohol to Ether.
2+1=3

AemRAdREE A 30 T G € 2 B @ e fofar
flefim & & &0 d 27 I v M & AW @Rl

What do you understand by oligosaccharide ? Write any two examples
Name a disease caused by deficiency of Vitamin B.

P.T.0.
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qea-21. Frefefad ages ¥ vees o A fofav
() FAad= - 6
(i) &I - S
(iiiy 2wt
Write the name of monomer of the following polymers
(i)  Nylon -6
(i) Buna - S
(i)  Teflon
s ¥ s am wwwd €2 @ wiotfas shefy ¥ o fefaed 2+1=3

What do you understand by Antibiotic ? Write the name of two antibiotic drug

we-23. e Ruoht fafar 2+2=4
(3 = sed
(7)) TH99 H&
Write short notes
(a)  Radius ratio

(b)  Coordination number

Jya OR
aftre Rt fofae :
(3 frea e
@ BB DS

Write short notes -
(a)  Crystal lattice

(b)  Unitcell

3-232202-A
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-4 (3 Uﬁaﬁmmﬁuﬁamﬁmﬁﬂo*Hglmmm

(H*)H%ﬁﬁ;aﬁmmﬂaﬁm.aﬁ? 2+3=5

talﬁﬂ%ﬁ@asﬁﬁmﬁaﬂaﬁﬁrpﬁmmﬁﬁaﬁm%ﬁm.

(a)

(b)

(31)

(d)

(@)

A1-25. (3)

(9)

() s HHRs

H*) but ethyl alcohol dosent, aithough both
O—H)7?

Why acetic acid gives proton (

of them have hydrogen atom attached to a oxygen atom (—
Write the complete chemical equation only for following reaction :
(i) Rosenmund's Reaction https://www.cgboardonline.com
(i) Etard Reaction
(i) Clemmensen Reaction
aral OR
S theee ¥ @9 fpada aw &, sfta o A
Fn A & F@ (daw e fafEe)
(1) frrrd sfieis @& B CO, 3 &M &
(2) wdRfzere & B HCN ¥ & Fh &)
(3) vAR® e PCI, & fpan avan &
Ketones are less reactive than aldehydes. Give suitable reasons.
What happens when (write equation only)
(1) Grignard reagent is reacted with CO,.
(2) Acetaldehyde is reacted with HCN.
(3) Acetic acid is reacted with PCl;.
iﬁmu@ﬁ%\ﬁmé?mwm%ﬁm 2+3=5
darEe vd vfease § @ 9 s fafael
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(a) What is meant by Alloys 7 Wite arry one uLe
- A
Write any three differences between lanthanods ard aCINOGE

(b)
Fum OR
(3) firan Uﬂﬁ s wea 20 ZEN ff?.’f ey, aprn Tt

' ¥ - L4 -
FoareE A oframe A A A mpeE fetn
= - - '] Fags LF

(a)
(@) What is meant by “Misch metais® ¥ Wrile any one use of it
(b) Write any three similarities between lanthanods and actinowds

-2, (), Prafatma # woaa= F v A gram A1 grAvrEAr 2 2 1414225
(iy 1 e AP E| A0

(i) 1 A MnO, # Mp* @

frqaaes ad o4 favaras 9 #1% @ v s

(a) How much charge is required for the following reduction

(i) 1 mole of Al** to Al

(i) 1 mole of MnO, tc Mn?"

(b) Differentiate between electromaotive force and potential difference
(Any two)

3gal OR

(31 frefefas & swipa 373 & fom feas pefn faga smawas 2
() 1 9@ HO# O, #
(i) 1 %@ FeO &1 Fe,0., ¥

(@ wfnd ¥ v e e 8 s ffau @ o,

(a) How much electricity 1s required in coulomb for the oxidation of
(i) 1 mole of H,O to O,
(i) 1 mole of FeO to Fe,O,

(b) Differentiate between primary cell and secondary cell (Any two)
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